
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

RATIONAL NUMBERS

Example

1. Express  in standard form.

A. 

B. 

C. 

D. 

33

−44

−3

4

−5

4

−7

4

3

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4jdKbbOYLSlv


Answer: A

Watch Video Solution

2. Which of the numbers  is greater ?

A. 

B. 

C. None of these

D. Both are equal

Answer: A

Watch Video Solution

or
3

−4

−5

6

3

−4

−5

6

https://dl.doubtnut.com/l/_4jdKbbOYLSlv
https://dl.doubtnut.com/l/_wTwbmkeg5fH4


3. Arrange the numbers  in ascending

order.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

, and
−3

5

7

−10

−5

8

< <
−3

5

7

−10

−5

8

< <
7

−10

−5

8

−3

5

< <
−5

8

7

−10

−3

5

4. REPRESENT AND on the number line.

Watch Video Solution

1

2
−

1

2

https://dl.doubtnut.com/l/_Gds4lwmLOTZA
https://dl.doubtnut.com/l/_xDDU1SzU2gN4


5. Represent  on the number line.

Watch Video Solution

and −
2

3

2

3

6. Represent  on the number line.

Watch Video Solution

and
13

5

−13

5

7. Find the sum : 

Watch Video Solution

(i) +    (ii) +
7

9

−11

9

8

−11

3

11

8. Find the sum: +
−5

6

4

9

https://dl.doubtnut.com/l/_6HYbSjH5uY9f
https://dl.doubtnut.com/l/_ePLVOOFBivRt
https://dl.doubtnut.com/l/_zjF6wbKZGQOI
https://dl.doubtnut.com/l/_bQ7N1VAvcIgm


A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

−7

18

−7

28

−7

38

−7

48

A

9. Find the sum: 

A. 

B. 

C. 

D. 

+
−9

16

5

12

−9

48

−11

48

−5

48

−7

48

https://dl.doubtnut.com/l/_bQ7N1VAvcIgm
https://dl.doubtnut.com/l/_Xk6ycSNGILHi


Solved Examples

Answer: D

Watch Video Solution

1. Find the additive inverse of :

Watch Video Solution

(i)   (ii)    (iii)     (iv)
5

9

−15

8

9

−11

−6

−7

2. (i) Subtract  from  (ii) Subtract  from .

Watch Video Solution

3

4
.         

2

3

−5

7

−2

5

https://dl.doubtnut.com/l/_Xk6ycSNGILHi
https://dl.doubtnut.com/l/_fRSMyD6EYZ3I
https://dl.doubtnut.com/l/_FkuOGJRxmy0g
https://dl.doubtnut.com/l/_1dVlRyZIrG6j


3. The sum of two rational numbers is -5. If one of them is

, find the other.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−13

6

−15

6

−11

6

−13

6

−17

6

4. What number should be added to  to get  ?

A. 

B. 

−7

8

4

9

94

72

93

72

https://dl.doubtnut.com/l/_1dVlRyZIrG6j
https://dl.doubtnut.com/l/_KBfaGeFl6QKF


C. 

D. 

Answer: C

Watch Video Solution

95

72

96

72

5. Evaluate .

A. 

B. 

C. 

D. 

Answer: B

h id l i

+ + +
3

5

7

3

−11

5

−2

3

2

15

1

15

3

15

4

15

https://dl.doubtnut.com/l/_KBfaGeFl6QKF
https://dl.doubtnut.com/l/_QZTxIUQWknCi


Watch Video Solution

6. Simplify: .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( + + + )
4

7

−8

9

−5

21

1

3

2

9

−1

9

−2

9

7. What should be subtracted from  to get  ?
−5

7
−1

https://dl.doubtnut.com/l/_QZTxIUQWknCi
https://dl.doubtnut.com/l/_3shgy7gEBuXz
https://dl.doubtnut.com/l/_yny7z2ZtQIWp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

7

2

7

5

7

6

7

8. Find the product: 

A. 

B. 

C. 

×
−7

8

3

5

21

40

11

40

−11

40

https://dl.doubtnut.com/l/_yny7z2ZtQIWp
https://dl.doubtnut.com/l/_wu65WwimL3k7


D. 

Answer: D

Watch Video Solution

−21

40

9. Find each of the following products: 

Watch Video Solution

(i) ×      (ii) ×       (iii) ×
−3

7

14

5

13

6

−18

91

−11

9

−51

44

10. Find the reciprocal of each of the following: 

Watch Video Solution

(i)12    (ii) − 8        (iii)            (iv)
5

6

−14

17

https://dl.doubtnut.com/l/_wu65WwimL3k7
https://dl.doubtnut.com/l/_b6sPNH0UQoWf
https://dl.doubtnut.com/l/_KtxZrcUUIyWk
https://dl.doubtnut.com/l/_YmeLxBnWkkau


11. Verify that: 

 

(ii)  

(iii) 

Watch Video Solution

(i)( × ) = ( × )
−3

16

8

15

8

15

−3

16

× ( × ) = ( × ) ×
2

3

6

7

−4

15

2

3

6

7

−14

15

× ( + ) = ( × ) + ( × )
5

6

−4

5

−7

10

5

6

−4

5

5

6

−7

10

12. Divide: 

 by 

A. 

B. 

C. 

D. 

9

16

5

8

9

10

3

2

5

4

9

4

https://dl.doubtnut.com/l/_YmeLxBnWkkau
https://dl.doubtnut.com/l/_3A4c18wu5wwJ


Answer: 

Watch Video Solution

9

10

13. The product of two numbers is . If one of the

numbers is , find the other.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−28

27
−4

9

7

3

7

5

8

3

11

3

https://dl.doubtnut.com/l/_3A4c18wu5wwJ
https://dl.doubtnut.com/l/_0xqHEDfd877r


14. Fill in blanks: .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷ (....... . ) =
27

16

−15

8

−7

10

−9

10

−11

10

−8

10

15. Find a rational number lying between .

A. 

B. 

and
1

3

1

2

5

12

4

12

https://dl.doubtnut.com/l/_YxWSYr44wMWp
https://dl.doubtnut.com/l/_upJC8nhKD8Cq


C. 

D. 

Answer: A

Watch Video Solution

6

12

3

12

16. Find three rational numbers lying between 3 and 4.

Watch Video Solution

17. Find 20 rational numbers between .

Watch Video Solution

and
−5

6

5

8

https://dl.doubtnut.com/l/_upJC8nhKD8Cq
https://dl.doubtnut.com/l/_UMx0F3SQaucK
https://dl.doubtnut.com/l/_imUJMzVpuIQg


Exercise 1 A

18. Find 15 rational numbers between -2 and 0.

Watch Video Solution

19. Write 9 rational numbers between 1 and 2.

Watch Video Solution

1. Express  as a rational number with denominator 

A. 

B. 

−3

5
20

−12

20

−13

20

https://dl.doubtnut.com/l/_7JmsA8yIuPuM
https://dl.doubtnut.com/l/_Ps55m18fMQe4
https://dl.doubtnut.com/l/_IWohRuGMcOnk


C. 

D. 

Answer: A

Watch Video Solution

−14

20

−15

20

2. Express  as a rational number with denominator .

A. 

B. 

C. 

D. 

Answer: C

−42

98
7

−4

7

−5

7

−3

7

−6

7

https://dl.doubtnut.com/l/_IWohRuGMcOnk
https://dl.doubtnut.com/l/_oYhuUJAalcSz


Watch Video Solution

3. Express  as a rational number with denominator 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−48

60
5.

−4

9

−4

7

−4

5

−6

5

4. Express of the rational numbers in standard form:

(i)       (ii)         (iii)          (iv)
−12

30

−14

49

−24

64

−36

−63

https://dl.doubtnut.com/l/_oYhuUJAalcSz
https://dl.doubtnut.com/l/_ZRqlAlgJkCMa
https://dl.doubtnut.com/l/_AYUiFOeokmUo


Watch Video Solution

5. Which of the two rational numbers is greater in the given

pair? 

Watch Video Solution

(i) or 0 (ii) or 0 (iii) or

(iv) or (v) or (vi) or − 1

3

8

− 2

9

− 3

4
1
4

− 5

7

− 4

7

2

3

3
4

− 1

2

6. Which of the two rational numbers is greater in the given

pair? 

Watch Video Solution

(i) or (ii) or (iii) or

(iv) or (v) or (vi) or − 3

− 4

3

− 8

7

7

− 9

− 5

8

− 1

3

4

− 5

9

− 13

7

− 12

4

− 5

− 7

10

− 12

5

https://dl.doubtnut.com/l/_AYUiFOeokmUo
https://dl.doubtnut.com/l/_VTVKwcDCU11z
https://dl.doubtnut.com/l/_iPRpdXOLHKpa


7. Fill in the blanks with the correct symbol out of

 : 


Watch Video Solution

> , = and <

(i) ....... (ii) .... . (iii) − 2.......

(iv) ....... . (v)0....... . (vi) .........

− 3

7

6

− 13

5

− 13

− 35

91

− 13

5

− 2

3

5

− 8

− 3

− 5

− 8

9

− 9

10

8. Arrange the following rational numbers in ascending

order: 

 


 


 


Watch Video Solution

(i) , , ,
4

−9

−5

12

7

−18

−2

3

(ii) , , ,
−3

4

5

−12

−7

16

9

−24

(iii) , , ,
3

−5

−7

10

−11

15

−13

20

(iv) , , ,
−4

7

−9

14

13

−28

−23

42

https://dl.doubtnut.com/l/_7pepst4Z8hyg
https://dl.doubtnut.com/l/_pXhvpsKAKSCO
https://dl.doubtnut.com/l/_Onz7eYDXEEkB


9. Arrange the following rational numbers in descending

order: 

 

 


 


Watch Video Solution

(i) − 2, , ,
−13

6

8

−3

1

3

(ii) , , ,
−3

10

7

−15

−11

20

17

−30

(iii) , , ,
−5

6

−7

2

−13

18

23

−24

(iv) , , ,
−10

11

−19

11

−23

33

−39

44

10. Which of the following statements are true and which are

false? 

(i) Every whole number is a rational number. 

(ii) Every integer is a rational number. 

(iii) 0 is a whole number but it is not a rational number.

Watch Video Solution

https://dl.doubtnut.com/l/_Onz7eYDXEEkB
https://dl.doubtnut.com/l/_hEvmOLdfYE96


Exercise 1 B

1. Represent each of the following numbers on the number

line. 

Watch Video Solution

(i) (ii) (iii)1 (iv)2

(v)3 (vi)5 (vii)4 (viii)8

1

3

2

7

3

4

2

5

1
2

5

7
2
3

2. Represent each of the following numbers on the number

line: 

Watch Video Solution

(i) (ii) (iii) − 1 (iv) − 3

(v) − 4 (vi) − 2 (vii) − 3 (viii) − 2

− 1

3

− 3

4

2

3

1

7

3

5

5

6
7
8

https://dl.doubtnut.com/l/_hEvmOLdfYE96
https://dl.doubtnut.com/l/_4IOEExXVYQby
https://dl.doubtnut.com/l/_T9tdLmDc3wjZ
https://dl.doubtnut.com/l/_aGzfgnYmtoQR


Exercise 1 C

3. Which of the following statements are true and which are

false? 

(i)  lies to the left of 0 on the number line. 


(ii)  lies to the right of 0 on the number line. 


(iii) The rational numbers  are on opposite sides

of 0 on the number line. 

(iv) The rational number  lies to the left of 0 on the

number line.

Watch Video Solution

−3

5
−12

7

and
1

3

−5

2

−18

−13

1. Add the following rational numbers:

(i) and (ii) and (iii) and

(iv) and (v) and (vi) and

− 2

5
4
5

− 6

11

− 4

11

− 11

8

5

8

− 7

3

1

3

5

6

− 1

6

− 17

15

− 1

15

https://dl.doubtnut.com/l/_aGzfgnYmtoQR
https://dl.doubtnut.com/l/_k7dbYkhUCDwW


Watch Video Solution

2. Add the following rational numbers: 

(i)  


(ii) 


,(iii) 


,((iv) 


,(v) 


,(vi) ,


(vii) 


,(viii) 


,(ix) 

Watch Video Solution

and
3

4

−3

5

and
5

8

−7

12

and
−8

9

11

6

and
−5

16

7

24

and
7

−18

8

27

and
1

−12

2

−15

−1 and
3

4

2 and
−5

4

0 and
−2

5

https://dl.doubtnut.com/l/_k7dbYkhUCDwW
https://dl.doubtnut.com/l/_Hy7TDTKiLJ5f


3. Verify the following:

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

+ = +
−12

5

2

7

2

7

−12

5

+ = +
−5

8

−9

13

−9

13

−5

8

3 + = + 3
−7

12

−7

12

+ = +
2

−7

12

−35

12

−35

2

−7

4. Verify the following: 

(i)  

(ii)  

(iii) 

Watch Video Solution

( + ) + = + ( + )
3

4

−2

5

−7

10

3

4

−2

5

−7

10

( + ) + = + ( + )
−7

11

2

−5

−13

22

−7

11

2

−5

−13

22

−1 + ( + ) = ( − 1 + ) +
−2

3

−3

4

−2

3

−3

4

https://dl.doubtnut.com/l/_T70jwO22GuHK
https://dl.doubtnut.com/l/_DQBL2i6gvS29
https://dl.doubtnut.com/l/_E4OSwnBAbYPU


5. Fill in the blanks 

 


(ii)  

(iii)

 

(iv)  

(v)  

(vi) 

Watch Video Solution

(i)( ) + ( ) = ( ) + (....... . )
−3

17

−12

5

−12

5

−9 + = (......) + ( − 9)
−21

8

( + ) + ( ) = (....... ) + [ + ( )]
−8

13

3

7

−13

4

3

7

−13

4

−12 + ( + ) = ( − 12 + ) + (....... . )
7

12

−9

11

7

12

+ ( + ) = { + (.........)} +
19

−5

−3

11

−7

8

19

−5

−7

8

+ ....... = ....... . + =
−16

7

−16

7

−16

7

6. Find the additive inverse of each of the following : 

Watch Video Solution

(i) (ii) (iii) − 18 (iv) (v)

(vi) (vii) (viii)0 (ix) (x)

1

3

23

9

− 17

8

15

− 4

− 16

− 5

− 3

11

19

− 6

− 8

− 7

https://dl.doubtnut.com/l/_E4OSwnBAbYPU
https://dl.doubtnut.com/l/_P2beR5FEGx5z


7. Subtract:

(i)  from  

(ii)  from  

(iii)  from  

(iv)  from -1 


(v)  from 1 

(vi)  from 0 

(vii)  form  

(viii) -7 from 

Watch Video Solution

3

4

1

3
−5

6

1

3
−8

9

−3

5
−9

7
−18

11
−13

9
−32

13

−6

5
−4

7

8. Using the rearrangement property find the sum: 

(i)  

(ii)  


+ + +
4

3

3

5

−2

3

−11

5

+ + +
−8

3

−1

4

−11

6

3

8

https://dl.doubtnut.com/l/_ELCyVvoujuTD
https://dl.doubtnut.com/l/_5Y0A7mrDhHy8


(iii)  

(iv) 

Watch Video Solution

+ + +
−13

20

11

14

−5

7

7

10

+ + +
−6

7

−5

6

−4

9

−15

7

9. The sum of two rational numbers is . If one of the

numbers is , find the other.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−2

−14

5

7

5

9

5

4

5

8

5

https://dl.doubtnut.com/l/_5Y0A7mrDhHy8
https://dl.doubtnut.com/l/_NTBmtzDG4qGs


10. The sum of two rational numbers is . If one of the

numbers is , find the other.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

2
5

6

−4

3

4

7

−4

7

4

3

11. What number should be added to  so as to get ?

Watch Video Solution

−5

8

−3

2

https://dl.doubtnut.com/l/_eOs6fy1caHqv
https://dl.doubtnut.com/l/_OO5P173nwnxm


12. What number should be added to -1 so as to get ?

A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

5

7

−11

7

−12

7

12

7

11

7

12

7

13. What number should be subtracted from  to get 

?

A. 

−2

3

−1

6

−
3

2

https://dl.doubtnut.com/l/_zscpBvrC300q
https://dl.doubtnut.com/l/_Wvcg1RHztE1s


B. 

C. 

D. 

Answer: B

Watch Video Solution

−
1

2

−
7

2

−
9

2

14. (i) Which rational number is its own additive inverse? 

(ii) Is the difference of two rational numbers a rational

number? 

(iii) Is the addition commutative on rational numbers? 

(iv) Is addition associative on rational numbers? 

(v) Is subtraction commutative on rational numbers? 

https://dl.doubtnut.com/l/_Wvcg1RHztE1s
https://dl.doubtnut.com/l/_fbnvRYZKeL6f


Exercise 1 D

(vi) Is subtraction associative on rational numbers? 

(vii) What is the negative of a negative rational number?

Watch Video Solution

1. Find each of the following products:

Watch Video Solution

(i) × (ii) × (iii) ×

(iv) × (v) × (vi) ×

(vii) × (viii) × (ix) ×

(x) × 24 (xi) × ( − 48) (xii) × ( − 10)

3

5

− 7

5

− 9

2

5

4

− 6

11

− 5

3

− 2

3

6

7

− 12

5

10

− 3

25

− 9

3

− 10

5

− 18

− 9

20

− 13

15

− 25

26

16

− 21
14
5

− 7

6
7

24

− 13

5

https://dl.doubtnut.com/l/_fbnvRYZKeL6f
https://dl.doubtnut.com/l/_iEDPSlWoQt9H


2. Verify each of the following: 

(i)  


(ii)  

(iii)  

(iv) 

Watch Video Solution

× = ×
3

7

−5

7

−5

9

3

7

× = ×
8

7

13

9

13

9

−8

7

× = ×
−12

5

7

−36

7

−36

−12

5

−8 × = × ( − 8)
−13

12

−13

12

3. Verify each of the following: 

(i)  

(ii)  


(iii) 

Watch Video Solution

( × ) × = × ( × )
5

7

12

13

7

18

5

7

12

13

7

18

× ( × ) = ( × ) ×
−13

24

−12

5

35

36

−13

24

−12

5

35

36

( × ) × = × ( × )
−9

5

−10

3

21

−4

−9

5

−10

3

21

−4

https://dl.doubtnut.com/l/_iPwjIMB2bsq9
https://dl.doubtnut.com/l/_IVDEDUGATdwn
https://dl.doubtnut.com/l/_ST7uI2jdNkQ1


4. Fill in the blanks: 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

× = × (....... )
−23

17

18

35

18

35

−38 × = × (.... . )
−7

19

−7

19

( × ) × = (....... . ) × ( × )
15

7

−21

10

−5

6

−21

10

−5

6

× ( × ) = ( × ) × (....... . )
−12

5

4

15

25

−16

−12

5

4

15

5. Find the multiplicative inverse (i.e., reciprocal) of : 

Watch Video Solution

(i) (ii) (iii) (iv)18 (v) − 16

(vi) (vii) − 1 (viii) (ix) (x)

13

25

− 17

12

− 7

24

− 3

− 5

0
2

2

− 5

− 1

8

https://dl.doubtnut.com/l/_ST7uI2jdNkQ1
https://dl.doubtnut.com/l/_m1IWcSryZTvD


6. Find the value of : 

Watch Video Solution

(i)( )
− 1

 (ii)( )
− 1

 (iii)( − 7) − 1  (iv)( )
− 1

5

8

−4

9

1

−3

7. Verify the following: 

(i)  

(ii)

(iii)  

(iv) 

Watch Video Solution

× ( + ) = ( × ) + ( × )
3

7

5

6

12

13

3

7

5

6

3

7

12

13

× ( + ) = ( × ) + ( × )
−15

4

3

7

−12

5

−15

4

3

7

−15

4

−12

5

( + ) × = ( × ) + ( × )
−8

3

−13

12

5

6

−8

3

5

6

−13

12

5

6

× ( + ) = ( × ) + ( × )
−16

7

−8

9

−7

6

−16

7

−8

9

−16

7

−7

6

https://dl.doubtnut.com/l/_fZh0ROjBhFkX
https://dl.doubtnut.com/l/_jkmBMy95zYl7
https://dl.doubtnut.com/l/_1t024fpdLOMt


8. Name the property of multiplication illustrated by the

following statements: 

(i)  

(ii)  

(iii) 

(iv)  

(v)  


(vi) 

Watch Video Solution

× = ×
−15

8

−12

7

−12

7

−15

8

( × ) × = × ( × )
−2

3

7

9

−9

5

−2

3

7

9

−9

5

× ( + ) = ( × ) + ( × )
−3

4

−5

6

7

8

−3

4

−5

6

−3

4

7

8

× 1 = 1 × =
−16

9

−16

9

−16

9

× = × = 1
−11

15

15

−11

15

−11

−11

15

× 0 = 0
−7

5

9. Fill in the blanks: 

(i) The product of a rational number and its reciprocal is ........ .

(ii) Zero has ......... reciprocal. 

(iii) The numbers ......... and ...... are their own reciprocals. 

https://dl.doubtnut.com/l/_1t024fpdLOMt
https://dl.doubtnut.com/l/_Pj6YHK1GIXCI


Exercise 1 E

(iv) Zero is ........... the reciprocal of any number. 

(v) The reciprocal of a, where  , is .......... . 

(vi) The reciprocal of , where , is ........... . 

(vii) The reciprocal of a positive rational number is ............ . 

(viii) The reciprocal of a negative rational number is ............ .

Watch Video Solution

a ≠ 0

1

a
a ≠ 0

1. Simplify:

Watch Video Solution

(i) ÷ (ii) − 8 ÷ (iii) ÷ ( − 18)

(iv) ÷ (v) ÷ (vi) ÷

4
9

− 5

12

− 7

16

− 12

7

− 1

10

− 8

5

− 16

35

− 15

14

− 65

14

13

7

https://dl.doubtnut.com/l/_Pj6YHK1GIXCI
https://dl.doubtnut.com/l/_2YATXD10DtnZ


2. Verify whether the given statement is true or false: 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

÷ = ÷
13

5

26

10

26

10

13

5

−9 ÷ = ÷ ( − 9)
3

4

3

4

÷ = ÷
−8

9

−4

3

−4

3

−8

9

÷ = ÷
−7

24

3

−16

3

−16

−7

24

3. Verify whether the given statement is true or false: 

 

Watch Video Solution

( ÷ ) ÷ = ÷ ( ÷ )
5

9

1

3

5

2

5

9

1

3

5

2

https://dl.doubtnut.com/l/_xpTvHGcf4tiZ
https://dl.doubtnut.com/l/_qZOAy3cJgLlH


4. The product of two rational numbers is . If one of the

numbers is , find the other.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−9

−12

7

4

3

4

5

4

9

4

5. The product of two rational numbers is . If one of the

numbers is , find the other.

−16

9
−4

3

https://dl.doubtnut.com/l/_HbAxkdkUnM61
https://dl.doubtnut.com/l/_fVvj6QyZDgOx


A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

4

3

−4

9

4

9

−4

3

4

3

6. By what rational number should we multiply  to get 

 ?

A. 

B. 

C. 

−15

56
−5

7

8

3

4

3

5

3

https://dl.doubtnut.com/l/_fVvj6QyZDgOx
https://dl.doubtnut.com/l/_S8opWPSIjeDa


D. 

Answer: A

Watch Video Solution

7

3

7. By what rational number should  be multiplied to

obtain ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−8

39
1

26

−3

8

−3

16

−3

5

−3

4

https://dl.doubtnut.com/l/_S8opWPSIjeDa
https://dl.doubtnut.com/l/_r4BCNlYgNNq2


Watch Video Solution

8. By what number should  be divided to get  ?

Watch Video Solution

−33

8

−11

2

9. Divide the sum of  by the product of 

.

Watch Video Solution

and
13

5

−12

7

and
−31

7

1

−2

10. Divide the sum of  by their difference.

Watch Video Solution

and
65

12

8

3

https://dl.doubtnut.com/l/_r4BCNlYgNNq2
https://dl.doubtnut.com/l/_PVpvSdAj33yZ
https://dl.doubtnut.com/l/_l447allAmJdg
https://dl.doubtnut.com/l/_Y3xlvuBeDBqi


11. Fill in the blanks: 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

÷ (....... . ) =
9

8

−3

2

(....... ) ÷ ( ) =
−7

5

10

19

(....... ) ÷ ( − 3) =
−4

15

( − 12) ÷ (.........) =
−6

5

12. (i) Are rational numbers always closed under division? 

(ii) Are rational numbers always commutative under division?

(iii) Are rational numbers always associative under division? 

(iv) Can we divide 1 by 0 ?

Watch Video Solution

https://dl.doubtnut.com/l/_WfunZ9VR4Tp9
https://dl.doubtnut.com/l/_HMlHq3jQST2Y


Exercise 1 F

1. Find a rational number between .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

and
1

4

1

3

9

24

7

24

5

24

11

24

2. Find a rational number between  and .2 3

https://dl.doubtnut.com/l/_QMC9zpJZagEc
https://dl.doubtnut.com/l/_mlCnW4fMdKJa


A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

9

2

7

2

5

2

11

2

C

3. Find a rational number between .

Watch Video Solution

and
−1

3

1

2

4. Find two rational numbers between -3 and -2.

Watch Video Solution

https://dl.doubtnut.com/l/_mlCnW4fMdKJa
https://dl.doubtnut.com/l/_HC1QCeSzMo2N
https://dl.doubtnut.com/l/_YjOfKTAfq3uU


Watch Video Solution

5. Find three rational numbers between 4 and 5.

Watch Video Solution

6. Find three rational numbers between 

Watch Video Solution

and
2

3

3

4

7. Find 10 rational numbers between  .

Watch Video Solution

and
−3

4

5

6

8. v31

https://dl.doubtnut.com/l/_YjOfKTAfq3uU
https://dl.doubtnut.com/l/_Ux2OPIk4C3kc
https://dl.doubtnut.com/l/_6me9Fi9wBhcF
https://dl.doubtnut.com/l/_DSFJlU4FqfSx
https://dl.doubtnut.com/l/_DKqgIwgvrzLT


Exercise 1 G

Watch Video Solution

1. From a rope  long, two pieces of lengths  and 

 are cut off. What is the length of the remaining rope?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

11m 2 m
3

5

3 m
3

10

5 m
1

10

5 m
2

10

4 m
1

10

3 m
1

10

https://dl.doubtnut.com/l/_DKqgIwgvrzLT
https://dl.doubtnut.com/l/_LBUTvizoTdLp


2. A drum full of rice weighs . If the empty drum

weighs , find the weight of rice in the drum.

Watch Video Solution

40 kg
1

6

13 kg
3

4

3. A basket contains three types of fruits weighing  in

all. If  of these be apples,  be oranges and the

rest pears, what is the weight of the pears in the basket?

Watch Video Solution

19 kg
1

3

8 kg
1

9
3 kg

1

6

4. On one day a rickshaw puller earned Rs. . Out of his

earnings he spent Rs.  on tea and snacks, Rs.  on

food and Rs.  on repairs of the rickshaw. How much did

he save on that day?

160

26
3

5
50

1

2

16
2

5

https://dl.doubtnut.com/l/_xRA6Hwn9tSIa
https://dl.doubtnut.com/l/_PEwc3julsOBY
https://dl.doubtnut.com/l/_hHntBSUYN8YI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Rs. 66
1

2

Rs. 76
1

2

Rs. 88
1

2

Rs. 69
1

2

5. Find the cost of  metres of cloth at Rs.  per metre.

Watch Video Solution

3
2

5
63

3

4

6. A car is moving at an average speed of . How

much distance will it cover in  hours?

60 km /hr
2

5

6
1

4

https://dl.doubtnut.com/l/_hHntBSUYN8YI
https://dl.doubtnut.com/l/_W9Py5asnr85K
https://dl.doubtnut.com/l/_bselEzpCOttm


Watch Video Solution

7. Find the area of a rectangular park which is  long

and m broad.

Watch Video Solution

36 m
3

5

16
2

3

8. Find the area of square plot of land whose each side

measures  metres.

Watch Video Solution

8
1

2

9. One litre of petrol costs Rs. . What is the cost of 34

litres of petrol?

h id l i

63
3

4

https://dl.doubtnut.com/l/_bselEzpCOttm
https://dl.doubtnut.com/l/_RT5Js7iWAWZq
https://dl.doubtnut.com/l/_KRWi2AEMt2ds
https://dl.doubtnut.com/l/_YvqAh0iyrKmE


Watch Video Solution

10. An aeroplane covers 1020 km in an hour. How much

distance will it cover in  hours?

A. 4255 km

B. 4240 km

C. 4150 km

D. 4250 km

Answer: D

Watch Video Solution

4
1

6

https://dl.doubtnut.com/l/_YvqAh0iyrKmE
https://dl.doubtnut.com/l/_nABK1eBzPDaX


11. The cost of  metres of cloth is Rs. . What is the

cost of one metre of cloth?

Watch Video Solution

3
1

2
166

1

4

12. A cord of length  has been cut into 26 pieces of

equal length. What is the length of each piece?

Watch Video Solution

71 m
1

2

13. The area of a room is . If its breadth is 

metres, what is its length ?

A. 

B. 

65 m21

4
5

7

16

12 m 

13 m 

https://dl.doubtnut.com/l/_CgICRaX45D7r
https://dl.doubtnut.com/l/_k2qo9bi2DSpq
https://dl.doubtnut.com/l/_tUv4f6yn2fzz


C. 

D. 

Answer: A

Watch Video Solution

14 m 

17 m 

14. The product of two fractions is . If one of the fractions

is , find the other.

Watch Video Solution

9
3

5

9
3

7

15. In a school,  of the students are boys. If there are 

girls, find the number of boys in the school.

A. 

5

8
240

450

https://dl.doubtnut.com/l/_tUv4f6yn2fzz
https://dl.doubtnut.com/l/_HFhu7MIeSDgQ
https://dl.doubtnut.com/l/_LziGgp1s5Wav


B. 

C. 

D. 

Answer: C

Watch Video Solution

480

400

460

16. After reading  of a book,  pages are left. How many

pages are there in the book?

A. 

B. 

C. 

D. 

7

9
40

170

280

180

200

https://dl.doubtnut.com/l/_LziGgp1s5Wav
https://dl.doubtnut.com/l/_mk9BWIWxbsH4


Answer: C

Watch Video Solution

17. Rita has Rs. 300. She spent  of her money on notebooks

and  of the remainder on stationery items. How much

money is left with her?

Watch Video Solution

1

3
1

4

18. Amit earns Rs.  per month. He spends  of his

income on food,  of the remainder on house rent and 

of the remainder on the education of children. How much

money is still left with him?

32000
1

4
3

10

5

21

https://dl.doubtnut.com/l/_mk9BWIWxbsH4
https://dl.doubtnut.com/l/_HDAxnoZpBdE3
https://dl.doubtnut.com/l/_ZSHCPsBoUenF


A. Rs. 

B. Rs. 

C. Rs. 

D. Rs. 

Answer: D

Watch Video Solution

12600

12500

12700

12800

19. If  of a number exceeds its  by 44, find the number.

A. 120

B. 140

C. 135

D. 145

3

5

2

7

https://dl.doubtnut.com/l/_ZSHCPsBoUenF
https://dl.doubtnut.com/l/_HX4g39JWQa7r


Answer: B

Watch Video Solution

20. At a cricket test match  of the spectators were in a

covered place while  were in open Find the total

number of spectators.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

7

15000

20000

21000

22000

23000

https://dl.doubtnut.com/l/_HX4g39JWQa7r
https://dl.doubtnut.com/l/_h07QliImAqqA


Exercise 1 H

1. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( + ) = ?
−5

16

7

12

−
7

48

1

24

13

48

1

3

2. ( + ) = ?
8

−15

4

−3

https://dl.doubtnut.com/l/_h07QliImAqqA
https://dl.doubtnut.com/l/_q7cG7XcE25SH
https://dl.doubtnut.com/l/_NiTviFsK1Jcg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

28

15

−28

15

−4

5

−4

15

3. 

A. 

B. 

C. 

D. 

( + ) = ?
7

−26

16

39

11

78

−11

78

11

39

−11

39

https://dl.doubtnut.com/l/_NiTviFsK1Jcg
https://dl.doubtnut.com/l/_k0vX2VveGDnz


Answer: A

Watch Video Solution

4. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3 + ) = ?
5

−7

−16

7

16

7

−26

7

−8

7

https://dl.doubtnut.com/l/_k0vX2VveGDnz
https://dl.doubtnut.com/l/_XsO07W68VdV9


5. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( + ) = ?
31

−4

−5

8

67

8

57

8

−57

8

−67

8

6. What should be added to  to get ?

A. 

B. 

7

12

−4

15

17

20

−17

20

https://dl.doubtnut.com/l/_cxfkIxWY2L9Y
https://dl.doubtnut.com/l/_cOVigiBs3lat


C. 

D. 

Answer: B

Watch Video Solution

7

20

−7

20

7. 

A. 

B. 

C. 

D. 

Answer: C

( + + + ) = ?
2

3

−4

5

7

15

−11

20

−1

5

−4

15

−13

60

−7

30

https://dl.doubtnut.com/l/_cOVigiBs3lat
https://dl.doubtnut.com/l/_1l5YEVrg0MXM


Watch Video Solution

8. The sum of two numbers is . If one of the numbers is

-5, what is the other?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−4

3

−11

3

11

3

−19

3

19

3

9. What should be added to  ot get ?
−5

7

−2

3

https://dl.doubtnut.com/l/_1l5YEVrg0MXM
https://dl.doubtnut.com/l/_JSiStbfUbm6g
https://dl.doubtnut.com/l/_82FYzrRw4OCl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−29

21

29

21

1

21

−1

21

10. What should be subtracted from  to get ?

A. 

B. 

C. 

D. 

−5

3

5

6

5

2

3

2

5

4

−5

2

https://dl.doubtnut.com/l/_82FYzrRw4OCl
https://dl.doubtnut.com/l/_v2L3CSDJgEbD


Answer: D

Watch Video Solution

11. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

( )
− 1

= ?
−3

7

7

3

−7

3

3

7

https://dl.doubtnut.com/l/_v2L3CSDJgEbD
https://dl.doubtnut.com/l/_JGOrdpW9rQjZ


12. The product of two rational numbers is . If one of

the numbers is  then the other one is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−28

81
14

27

−2

3

2

3

3

2

−3

2

13. The product of two numbers is . If one of the

numbers is , the other is

−16

35
−15

14

https://dl.doubtnut.com/l/_QSaWUtqVHLmi
https://dl.doubtnut.com/l/_oXCHyVaUjq0u


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−2

5

8

15

32

75

−8

3

14. What should be subtracted from  to get -2 ?

A. 

B. 

C. 

D. 

−3

5

−7

5

−13

5

13

5

7

5

https://dl.doubtnut.com/l/_oXCHyVaUjq0u
https://dl.doubtnut.com/l/_UxARiPSllOmA


Answer: D

Watch Video Solution

15. The sum of two rational numbers is . If one of them is 

 then the other one is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−3

−10

3

−13

3

−19

3

1

3

13

3

https://dl.doubtnut.com/l/_UxARiPSllOmA
https://dl.doubtnut.com/l/_YB27QNQbhXaq
https://dl.doubtnut.com/l/_cfnQyY1sG29B


16. Which of the following numbers is in standard form?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−12

26

−49

70

−9

16

28

−105

17. 

A. 

B. 

( × ) = ?
−9

16

8

15

−3

10

−4

15

https://dl.doubtnut.com/l/_cfnQyY1sG29B
https://dl.doubtnut.com/l/_uNNK4skxvR0D


C. 

D. 

Answer: A

Watch Video Solution

−9

25

−2

5

18. 

A. 

B. 

C. 

D. 

Answer: B

( ÷ ) = ?
−5

9

2

3

−5

2

−5

6

−10

27

−6

5

https://dl.doubtnut.com/l/_uNNK4skxvR0D
https://dl.doubtnut.com/l/_tjg5DEESJH2L


Watch Video Solution

19. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

÷ ? =
4

9

−8

15

−32

45

−8

5

−9

10

−5

6

20. Additive inverse of  is
−5

9

https://dl.doubtnut.com/l/_tjg5DEESJH2L
https://dl.doubtnut.com/l/_5ow7Vq9SfddC
https://dl.doubtnut.com/l/_dDwf9ufzkRpO


A. 

B. 0

C. 

D. 

Answer: C

Watch Video Solution

−9

5

5

9

9

5

21. Reciprocal of  is

A. 

B. 

C. 

D. 0

−3

4

4

3

3

4

−4

3

https://dl.doubtnut.com/l/_dDwf9ufzkRpO
https://dl.doubtnut.com/l/_V4U4fj60t481


Answer: C

Watch Video Solution

22. A rational number between  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

and
−2

3

1

4

5

12

−5

12

5

24

−5

24

https://dl.doubtnut.com/l/_V4U4fj60t481
https://dl.doubtnut.com/l/_ANVNLebt3WyB


Test Paper

23. The reciprocal of a negative rational number

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

 is a positive rational number 

 is a negative rational number 

 can be either a positive or a negative rational number 

 does not exist  

https://dl.doubtnut.com/l/_4A5Om5ExwKSA


1. Find the additive inverse of: (i)  (ii) 

Watch Video Solution

7

−10

8

5

2. The sum of two rational numbers is  If one of them is 

, find the other.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−4.

−11

5

−3

5

−4

5

−9

5

−2

5

https://dl.doubtnut.com/l/_buSD9YlP5q2M
https://dl.doubtnut.com/l/_KhV0zyy6yqa5


3. What number should be added to  to get  ?

Watch Video Solution

−3

5

2

3

4. What number should be subtracted from  to get 

?

Watch Video Solution

−3

4

−1

2

5. Find the multiplicative inverse of : (i)  (ii) 

Watch Video Solution

−3

4

11

4

https://dl.doubtnut.com/l/_TaqaozR1BLrz
https://dl.doubtnut.com/l/_RfOqzY31juzz
https://dl.doubtnut.com/l/_n3hZLp4OMz1T


6. The product of two numbers is -8. If one of them is -12, find

the other.

Watch Video Solution

7. Evaluate: 

Watch Video Solution

(i) ×   (ii)( )
− 1

  (iii)( − 6) − 1−3

5

10

7

−5

8

8. Name the property of multiplication shown by each of the

following statements: 

(i)  

(ii)  

× = ×
−12

5

3

4

3

4

−12

5

× 1 =
−8

15

−8

15

https://dl.doubtnut.com/l/_zPeW6eMWLEJc
https://dl.doubtnut.com/l/_oe1gcaz5hD6H
https://dl.doubtnut.com/l/_Cr7nAKMOjujd


(iii)  

(iv)  

(v) 

Watch Video Solution

( × ) × = × ( × )
−2

3

7

8

−5

7

−2

3

7

8

−5

7

× 0 = 0
−2

3

× ( + ) = ( × ) + ( × )
2

5

−4

5

−3

10

2

5

−4

5

2

5

−3

10

9. Find two rational numbers laying between .

Watch Video Solution

and
−1

3

1

2

10. What should be added to  to get  ?

A. 

B. 

C. 

−3

5

−1

3

4

5

8

15

4

15

https://dl.doubtnut.com/l/_Cr7nAKMOjujd
https://dl.doubtnut.com/l/_H2nSSaGkqVeb
https://dl.doubtnut.com/l/_eOItJBZxZlNF


D. 

Answer: C

Watch Video Solution

2

5

11. What should be subtracted from  to get ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2

3

3

4

−11

12

−13

12

−5

4

−17

12

https://dl.doubtnut.com/l/_eOItJBZxZlNF
https://dl.doubtnut.com/l/_sD4Jeswg5HNm


12. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( )
− 1

= ?
−5

4

4

5

−4

5

5

4

3

5

13. The product of two numbers is . If one of them is 

, then the other is

A. 

−1

4
−3

10

5

6

https://dl.doubtnut.com/l/_3cyeBU8uwBX0
https://dl.doubtnut.com/l/_kh4GHiYsJz6u


B. 

C. 

D. 

Answer: A

Watch Video Solution

−5

6

4

3

−8

5

14. 

A. 

B. 

C. 

D. 

( ÷ ) = ?
−5

6

−2

3

−5

4

5

4

−4

5

4

5

https://dl.doubtnut.com/l/_kh4GHiYsJz6u
https://dl.doubtnut.com/l/_xWAsSRPHlUxW


Answer: B

Watch Video Solution

15. Find the value of x .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

÷ x =
4

3

−5

2

−8

5

8

5

−8

15

8

15

https://dl.doubtnut.com/l/_xWAsSRPHlUxW
https://dl.doubtnut.com/l/_rgSBV5m3H2kK


16. Reciprocal of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

−7

9

9

7

−9

7

7

9

17. A rational number between  is

A. 

B. 

and
−2

3

1

2

−1

6

−1

12

https://dl.doubtnut.com/l/_7P65sNuSKNTo
https://dl.doubtnut.com/l/_nkw2KT24ZCXI


C. 

D. 

Answer: A

Watch Video Solution

−5

6

5

6

18. Fill in the blanks. 

(i) . 


(ii) . 

(iii)  . 

(iv) .

Watch Video Solution

÷ (....... ) = − 10
25

8

× (.........) =
−8

9

−2

3

( − 1) + (.........) =
−2

9

− (.........) =
2

3

1

15

https://dl.doubtnut.com/l/_nkw2KT24ZCXI
https://dl.doubtnut.com/l/_IMUwjYz7mqO7


19. Write 'T' for true and 'F' for false for each of the following:

(i) Rational numbers are always closed under subtraction. 

(ii) Rational numbers are always closed under division. 

(iii)  


(iv) Subtraction is commutative on rational numbers. 

(v) .

Watch Video Solution

1 ÷ 0 = 0.

−( ) =
−7

8

7

8

https://dl.doubtnut.com/l/_Zcq7Fs2Pfuye

